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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2018 

 

Subject Name :  Database Management System 
 

Subject Code : 2TE03DMS1  Branch: Diploma (CE)  

    

Semester :  3       Date:01/12/2018 Time : 02:30 To 05:30  Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  Create table employee (name varchar ,id integer) 

What type of statement is this ? 

a) DML  b) DDL  c) View  d) Integrity constraint 

1 

 b)  Select * from employee 

What type of statement is this? 

a) DML  b) DDL  c) View  d) Integrity constraint 

1 

 c)  The basic data type char(n) is a _____ length character string and varchar(n) is 

_____ length character. 

a) Fixed, equal  b) Equal, variable  c) Fixed, variable  d) Variable, equal 

1 

 d)  To remove a relation from an SQL database, we use the ______ command. 

a) Delete  b) Purge  c) Remove  d) Drop table 

1 

 e)  Select ________ dept_name from instructor; 

Here which of the following displays the unique values of the column ? 

a) All  b) From  c) Distinct  d) Name 

1 

 f)  The ________ clause is used to list the attributes desired in the result of a query. 

a) Where  b) Select  c) From  d) Distinct 

1 

 g)  By default, the order by clause lists items in ______ order. 

a) Descending  b) Any  c) Same  d) Ascending 

1 

 h)  In SQL the spaces at the end of the string are removed by _______ function . 

a) Upper  b) String  c) Trim  d) Lower 

1 

 i)  _____ operator is used for appending two strings. 

a) &  b) %  c) ||  d) _ 

1 

 j)  Which of the following is used to store movie and image files ? 

a) Clob  b) Blob  c) Binary  d) Image 

1 

 k)  The user defined data type can be created using 

a) Create datatype  b) Create data  c) Create definetype  d) Create type 

1 

 l)  Which keyword must be used here to rename the field name ? 

a) From  b) Rename  c) As  d) Join 

1 

 m)  The intersection operator is used to get the _____ tuples. 1 
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a) Different  b) Common  c) All  d) Repeating 

 n)  If we want to retain all duplicates, we must write ________ in place of union. 

a) Union all  b) Union some  c) Intersect all  d) Intersect some 

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) Explain DBMS with their advantage. (7) 

 (b) Explain different Functions and Responsibilities of DBA. (7) 

    

 

 

Q-3  Attempt all questions (14) 

 (a) Differentiate DBMS & RDBMS. (7) 

 (b) List out different data types of DBMS and explain each data type. (7) 

    

Q-4  Attempt all questions (14) 

 (a) Draw Architecture of ANSI SPARC Database Architecture. (7) 

 (b) What is DDL? Explain any two DDL command with suitable Example. (7) 

    

Q-5  Attempt all questions (14) 

 (a) Explain Hierarchical Model with Suitable Diagram. (7) 

 (b) What is DML? Explain any two DML command with suitable Example. (7) 

    

Q-6  Attempt all questions (14) 

 (a) Explain Primary key & Foreign key with Suitable example. (7) 

 (b) Write a short note on Specialization and Generalization in terms of database. (7) 

Q-7  Attempt all questions (14) 

 (a) List out different relational algebra operation. (7) 

 (b) List out different types of join used in DBMS. (7) 

    

Q-8  Attempt all questions (14) 

 (a) Explain Entity – Relationship Diagram with symbol. (7) 

 (b) Perform Following operation 

TABLE: Restaurant (RID,RNAME,RADDRESS,PHONE) 

Table Name: Item(IID,INAME) 

1. Create Restaurant table. 

2. Create item table 

3. Insert record in item table. 

4. Insert record in restaurant table. 

5. Display all available restaurants with their address and phone number. 

6. Display Item Information with appropriate column Aliases. 

7. Delete record from item table. 

(7) 
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Q-1  Attempt the following questions: 

 
(14)  

 a)  કોષ્ટક કભમચાયી ફનાલો (નાભ લાયય, id પણૂાાંક) આ કમા પ્રકાયન ું નનલેદન છે? 

એ) ડીએભએર   ફી) ડીડીએર   વી) જ ઓ  ડી) અખુંડડતતા અલયોધ 
1 

 b)  કભમચાયી ઩ાવેથી * ઩વુંદ કયો. આ કમા પ્રકાયન ું નનલેદન છે? 

એ) ડીએભએર ફી) ડીડીએર વી) જ ઓ ડી) અખુંડડતતા અલયોધ 
1 

 c)  મ઱ૂ ડેટા પ્રકાય કેય (એન) એ _____ રુંફાઈ ઩ાત્ર ળબ્દભા઱ા છે અને લૅયકેય (n) એ 

_____ રુંફાઈ ઩ાત્ર છે. 

એ) સ્થથય, વભાન ફી) વભાન, ચર ચર વી) સ્થથય, ચર ડી) લેડયમેફર, વભાન 

1 

 d)  ઍથય ઍર ડેટાફેવથી કોઈ વુંફુંધ દૂય કયલા ભાટે, અભે ______ કભાન્ડનો ઉ઩મોગ 

કયીએ છીએ. 

એ) કાઢી નાખો ફી) ઩ર્જ  વી) દૂય કયો ડી) ડ્રો઩ ટેફર 

1 

 e)  પ્રનળક્ષક ઩ાવેથી ________ dept_name ઩વુંદ કયો; 
નીચે આ઩ેરાભાુંથી કમો કૉરભનાું અનન્મ મલૂ્મો દળામલે છે? 

એ)  ફધા  ફી)  ભાુંથી  વી) ડડપયન્ટ   ડી) નાભ 

1 

 f)  ________ ક્રોઝનો ઉ઩મોગ ક્લેયીના ઩ડયણાભભાું ઇચ્છછત નલળે઴તાઓની સચૂચ ભાટે 

કયલાભાું આલે છે. 

એ) જમાું ફી) ઩વુંદ કયો વી) ભાુંથી ડી) ડડપૉલ્ટ 

1 

 g)  ડડપોલ્ટ રૂ઩ે, કરભ દ્વાયા ઓડમય ______ ક્રભભાું લથત  ઓની સચૂચ ફતાલે છે. 

એ) ઉતયતા જતા ફી) કોઈ઩ણ વી) એ જ ડી) લધતી જતી 
1 

 h)  ઍથય ઍર ભાું ળબ્દભા઱ાના અંતે જગ્માઓ _______ કામમ દ્વાયા દૂય કયલાભાું આલે છે. 

એ) ઉ઩રા ફી) ળબ્દભા઱ા વી) ટ્રીભ ડી) રોઅય 
1 

 i)  ____ ઑ઩યેટયનો ઉ઩મોગ ફે ળબ્દભા઱ાઓ ઉભેયલા ભાટે થામ છે. 

એ)  & ફી)  %  વી)  ||   ડી) _ 
1 

 j)  મલૂી અને છફી પાઇરો વુંગ્રડશત કયલા ભાટે નીચેનાભાુંથી કઈનો ઉ઩મોગ થામ છે? 

એ) ક્રોફ ફી) બ્રોફ વી) ફાઈનયી ડી) છફી 
1 

 k)  ઉ઩મોગકતામ દ્વાયા વ્માખ્માનમત ડેટા પ્રકાયનો ઉ઩મોગ કયી ળકામ છે 

એ) ડેટાટાઇ઩ ફનાલો  ફી) ડેટા ફનાલો  વી) ચોક્કવ ટાઇ઩ ફનાલો  ડી) પ્રકાય ફનાલો 
1 

 l)  પીલ્ડ નાભન ું નાભ ફદરલા ભાટે અશીં કમા કીલડમનો ઉ઩મોગ કયલો આલશ્મક છે? 

એ) થી   ફી) નાભ ફદરો  વી)  ઍવ ડી) જોડાઓ 
1 

 m)  આંતયછેદ ઓ઩યેટયનો ઉ઩મોગ _____ ટ ઩લ્વ ભે઱લલા ભાટે થામ છે. 1 
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એ) નલનલધ ફી) વાભાન્મ વી) ફધા ડી) પ નયાલતમન 

 n)  જો આ઩ણે ફધા ડ ચ્લરકેટ્વને જા઱લી યાખલા ભાુંગીએ છીએ, તો આ઩ણે ય નનમનની 
જગ્માએ ________ ને રખવ ું જોઈએ. 

એ) ય નનમન ફધા ફી) ય નનમન કેટરાક વી) ફધા લછચે છૂટાછેડા ડી) કેટરાક છૂટાછેડા 
1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) તેભના રાબ વાથે ડીફીએભએવ વભજાલો (7) 

 (b) ડીફીએના નલનલધ કામો અને જલાફદાયીઓ વભજાલો. (7) 

    

 

 

Q-3  Attempt all questions (14) 

 (a) ડીફીએભએવ અને આયડીફીએભએવ નલચબન્ન વભજાલો. (7) 

 (b) ડીફીએભએવના નલનલધ ડેટા પ્રકાયોની સચૂચ ફનાલો અને દયેક ડેટા પ્રકાયને વભજાલો. (7) 

    

Q-4  Attempt all questions (14) 

 (a) આંવી થ઩ાકમ  ડેટાફેઝ આડકિટેક્ચયન ું આડકિટેક્ચય દોયો. (7) 

 (b) ડીડીએર શ ું છે? મોગ્મ ઉદાશયણ વાથે કોઈ઩ણ ફે ડીડીએર આદેળ વભજાલો. (7) 

    

Q-5  Attempt all questions (14) 

 (a) મોગ્મ ડામાગ્રાભ વાથે શામયાકીકર ભોડર વભજાલો. (7) 

 (b) ડીએભએર શ ું છે? મોગ્મ ઉદાશયણ વાથે કોઈ઩ણ ફે ડીએભએર કભાન્ડની વભજાલો (7) 

    

Q-6  Attempt all questions (14) 

 (a) મોગ્મ ઉદાશયણ વાથે પ્રાથનભક કી અને નલદેળી કી વભજાલે છે. (7) 

 (b) ડેટાફેઝના વુંદબમભાું થ઩ેનળમરાઇઝેળન અને જનયરાઈઝેળન ઩ય ટૂુંકા નોંધ રખો. (7) 

 

 

Q-7  Attempt all questions (14) 

 (a) નલનલધ વુંફુંધી ફીજગચણત કાભગીયીની સચૂચ ફનાલો. (7) 

 (b) ડીફીએભએવભાું ઉ઩મોગભાું રેલાતા નલનલધ પ્રકાયનાું જોડાણોની માદી ફનાલો (7) 

    

Q-8  Attempt all questions (14) 

 (a) એન્ન્ટટી વુંફુંધ ડામગ્રાભ પ્રતીક વાથે વભજાલો (7) 

 (b) નીચેના ઓ઩યેળન કયો 
ટેફર: યેથટોયન્ટ (આયઆઈડી, આયએનએન, યેડ વયનામ ું, પોન) 

કોષ્ટકન ું નાભ: આઇટભ (આઇઆઇડી, આઇએનએભ) 

(7) 
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1. યેથટોયાું ટેફર ફનાલો. 
2. લથત   કોષ્ટક ફનાલો 
3. લથત   ટેફરભાું યેકોડમ ળાભેર કયો. 
4. યેથટૉયન્ટ ટેફરભાું યેકોડમ ળાભેર કયો. 
5. ફધા ઉ઩રબ્ધ યેથટોયન્ટો તેભના વયનાભાું અને પોન નુંફય વાથે દળામલો. 
6. મોગ્મ કૉરભ ઉ઩નાભો વાથે આઇટભ ભાડશતી દળામલો. 
7. લથત   ટેફરભાું થી યેકોડમ ડીરીટ કયો. 
 

    
 


